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The figures in the margin indicate full marks
for the questions
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Define relative error.

(b) T B Yo R e e
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Discuss bisection method to find a root
of an equation.
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Find 412 to four places of decimal by
Newton-Raphson method.
(c) (TR & WSTR[ T HCAD 397 | 4

Discuss the rate of convergence of secant
method.
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12 Cor forsit
Write short notes on :
() Feers @
Absolute error
(i) Greeos & o

Truncation error
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2. (a) TREE oI v f i 11 '

Define permutation matrix.

(b) Sz <fficwa me g IR BEGIH
I 91 : 2

Solve the system using' Gauss
elimination method :
—X; +Xg —2x3 =4
Xy —-x3 =1
=Xy +2x3 =0

() W—W%%m'ﬂﬁwmw: 6

Apply Gauss-Jordan method to solve
3x+y+2z=3
2x-3y~-z=-3

X+2y+z=4

=€/ Or
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Discuss the convergence of Gauss-Seidel
method. :
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3. (a) AR B TIRIII  TOROCAT  HE
GHGIHCEToR kel e | 2

Define interpolation and extrapolation
with an example of each.

(b) oM T

Prove that
AUP) = + fia) AT 2
() (TG TR 4 IFT T, 2 A TrE®
3% RNT o= 72 P(x) Gtwes Sferedn e

Using Lagrange interpolation formula,
find the unique polynomial P(x) of degree
2 or less such that

P()=1 P@3) =27, P@) =64 5
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Discuss Newton-Gregory forward
interpolation method.
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Define quadrature rule of the numerical
integraion.

mmwtﬂrcﬁzmwﬁmwzﬁﬁ

252

rule with five ordmates.
<1/ Or

YIS T foeemes  3/8th  ENCH
Sferean |

Derive Simpson’s 3/8th rule of
numerical integration.

RN e T E ird fw e IR
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X

Evaluate

Simpson’s 1rd rule.
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9T/ Or
PTG I2fS Boole’s FENe Ry Scaw=
340 :
Discuss Boole’s rule in numerical
integration.
AR &S IRTF IR h= 0-2 3 TR
T I y’=rx2 +y?, y0) =" IX®
y (0-4)7 fay w7 Sferean | 3
Find an approximation to y (0-4) for the
initial value problem
y=x*+y? y0O) =1
using Euler method with h =0-2.
fr eme y’ = x+siny, y0) =1, et @
h=0-2 33 OICS SRART *&(© IT F91C1
B, I y(0-2) T IETC® 0-05 ST I
T = | 6

Given the equation y’ = x+siny with
y(0) =1, show that it is sufficient to use
Euler’s method with the step h=0-2 to
compute y(0-2) with an error less than
0-05.
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dy
Z=y-x, y0)=2
>~ y(@©)

Runge-Kutta *&f® W R y©O-1) %
y(0-2R T fSf51 mifis weta Wate v |

Given % =y-x, y(0) =2, find y(0-1) and

Y(0-2) correct to three decimal places
using Runge-Kutta method.
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